
1

2 3

5

9

12

14

19

17

18

1615

13

11

10

8

7

6

4

20

A6509.. 

Caine

C
ai

ne

 1	 Lever cpl. with red/blue 	 A 960 717 AA	 1 Set
 2	 Thread pin M5x6 DIN914	 A 860 603 NU	 1 pcs
 3	 Handle cap	 B 960 473 AA	 1 pcs
 4	 Cover cap M43 x 1,5	 A 960 731 AA	 1 pcs
 5	 Clamping nut M43 x 1,5
 6	 O - ring  Ø 28,3 x 1,78	 A 860 818 NU	 2 pcs

 7	 Cartridge complete	 A 960 733 NU	 1 Set
 8	 O - ring  Ø 9,25 x 1,78	 A 963 395 NU	 2 pcs
 9	 Cartridge sleeve
10	 O - ring  Ø 38 x 2	 A 961 114 NU	 1 pcs
11	 Body

12	 Nipple for spout connector
13	 O -ring  Ø 8,1 x 1,6	 A 962 345 NU	 1 pcs
14	 Spout 
15	 Thread pin M5x5 DIN 914	 A 960 729 AA	 1 pcs
16	 Aerator M24x1 -A-	 A 860 050 AA	 1 Set
17	 Extension Body Ø48 x 155

18	 Bolt M8 x 270mm
19	 Fixation kit 	 A 962 139 NU*	 1 Set
20	 Flex. hose M10x1 / G3/8	 A 963 685 NU	 1 pcs

	 *Universal set (not all parts needed)

		  Part-
Pos.	 Description	 Number	   Qty.

		  Part-
Pos.	 Description	 Number	   Qty.

SL Basin mixer,
chrome               A6509AA

Fixation with thread

G3/8

Ø35

23
3

160

10°

30
2

Ø48

m
in

. 5
0

30
0

Caine
Produced from:  April. 2015


